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Løsningoppgave1

a)Enlydkildesomn̊ardeneriroietmediumsenderutlydmedfrekvensfs=
1
T,

mån̊ardenbevegersegietmediummedhastighetvsfor̊arsakelydmedbølgelengde
λmibevegelsesretningengittved:

λm=(c−vs)·T=(c−vs)·
1

fs
(1)

(Forfigur,seeventueltforelesningsnotatenekap.1.15s.65)

Dentilsvarendefrekvensfmsommålesavenobservatøriro(ibevegelsesretningen)
imedietblirda:

fm=
c

λm
=

c

c−vs
·fsq.e.d.(2)

b)Frekvensenerpersonirop̊askinnegangenvilmåleblir:

fro=
c

c−vtog
·f=

331

331−25
·400Hz=433Hz

Ioppgavetekstenvardettenkt,mendessverreikkeskrevetatobservatørenskulle
st̊amellomtogene.Detblirderforogs̊abetraktetsomfullgodtsvaromenantarat
togetbevegersegfraobservatøren.Enf̊arda:

fro=
c

c+vtog
·f=

331

331+25
·400Hz=372Hz

c)Togførerenidetenetogetvilmålefølgendefrekvensforfløytelydenfradetandre
(ifølgelign.(17)iformelsamlingen):

ftog=
1+vtog/c

1−vtog/c
·f=

1+25.0/331

1−25.0/331
·400Hz=465Hz

d)Togetsomkjørerimotvindharhastighetiforholdtilluften:

vs=(25.0+10.0)m/s=35.0m/s

Togetsomkjørerimedvindharhastighetiforholdtilluften:

vm=(25.0−10.0)m/s=15.0m/s
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Togførerenimedvindvildamålefølgendefrekvens:

fmed=
1+vm/c

1−vs/c
·f=

1+15.0/331

1−35.0/331
·400Hz=468Hz
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a)

vf=

(

2πγ

λ(ρ1+ρ2)

)

1/2

=

(

2πγ

ρ1+ρ2

)

1/2

λ
−1/2

=2.138·10
−2m3/2

s
·λ

−1/2
(3)

Forλ=1.00mm:

vf=0.676m/s≈0.68m/s

Forλ=0.100mm:

vf=2.14m/s

b)

vf=
λ

T
=
ω

k
=

(

2πγ

ρ1+ρ2

)

1/2

·

(

1

λ

)

1/2

=

(

γ

ρ1+ρ2

)

1/2

k
1/2

(4)

⇒ω=

(

γ

ρ1+ρ2

)

1/2

k
3/2

q.e.d.(5)

c)

vg=
dω

dk
=

3

2

(

γ

ρ1+ρ2

)

1/2

k
1/2

(6)

Sammenligningmellom(4)og(6)gir:

vg=
3

2
vf(7)
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d)VikallerlengdenavbølgetogetforL.Detvildabruketident=L/vgp̊aåpassere
etpunktx=x1.P̊adennetidenvil:

n=
t

T
=

t

λ0/vf
=

L/vg

λ0/vf
=

L

λ0

vf

vg
=

2

3

L

λ0

klarebølgetyperpasserex=x1.DefinerervilengdenavbølgetogettilåværeL=
12λ0,f̊arvi:

n=
2

3

L

λ
=8
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a)TotaltfeltEθietpunktPergittved:

Eθ=E1+E2=E0{cos[k(r+∆r)−ωt−ϕ]+cos[kr−ωt−ϕ]}(8)

Oppgitt:cosa+cosb=2cos
a+b

2
·cos

a−b

2
(9)

Defineresa=k(r+∆r)−ωt−ϕogb=kr−ωt−ϕ,kan(8)vha.(9)omformestil:

Eθ=2E0cos

[

k

(

r+
∆r

2

)

−ωt−ϕ

]

·cos

(

k∆r

2

)

(10)

Vedfigurbetraktning:

∆r=dcosθ(11)

(11)inni(10)gir:

Eθ=2E0cos

(

kdcosθ

2

)

·

[

k

(

r+
dcosθ

2

)

−ωt−ϕ

]

Q.E.D(12)

b)ForetgittpunktPp̊aobservasjonsskjermen,kantotalfeltetEθi(12)skrives:

Eθ=Eθ0cos(ωt+ϕ
′

)(13)

medamplitude

Eθ0=2E0cos

(

kdcosθ

2

)

(14)

og

ϕ
′

=k

(

r+
dcosθ

2

)

−ϕ=konstantforgittP(15)
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IntensitetentilenharmoniskelektromagnetsikbølgeivakuummedamplitudeEθ0

erda(jmf.formelsamlingiBølgefysikk/Fysikk3):

Iθ=εcE2
θ=

1
2ε0E2

θ0

=
1
2ε0c

(

2E0cos
(

kdcosθ
2

))

2
=2ε0cE2

0cos2kdcosθ
2(16)

Vif̊armaksimallysintensitetfor:

kdcosθ

2
=mπ⇒cosθ=m

λ

d
(17)

hvorm=0,1,2...begrensetavatm≤
d
λ.

Denminstepositiveverdienavλsomgirlysmaksimumsvarertildenstørstepositive
heltallverdienm≤d/λ.Herer:

d

λ
=

1000.5λ

λ
⇒m=1000

somvha.(17)girvinkelverdien

θm=1000=arccos

(

1000λ

1000.5λ

)

∼=0.0316⇒θm=1000∼=1.81
◦

Tisvarendefinneslysminimavedat

kdcosθ

2
=

(

n+
1

2

)

π⇒cosθ=
λ

d

(

n+
1

2

)

(18)

hvorn=0,1,2,...begrensetvedn≤d/λ−1/2.Tisvarendeovenforfinnesminste
positiveverdiavθsomgirlysminimumfrastørstepositiveheltallsverdin≤

d
λ−

2
2

(utenomeventuellverdiavnsomgirθ=0).Herer
d
λ−

1
2=

1000.5λ
λ−

1
2=1000,

hvilketbetyratviharetlysminimumforθ=0.Denminstepositiveverdiavθsom
girlysminimum,svarertilm=999,somvedinnsettingi(18)girvinkelverdien:

θn=999=arccos

[(

999+
1

2

)

λ

1000.5λ

]

=arccos

(

999.5

100.5

)

∼=0.0447

⇒θn=999∼=2.56
◦

c)Koherenstidenτctilsvarerkoherenslengdenlc≈1mmer:

τc=
lc
c
≈3·10

−12
s.

Sidendetokildeneeruavhengige,kandebaregistabiltinterferensmøsterp̊atider
avsannestørrelsesordensomτc.Fortidersomersværtmyestørreennτc,vilderfor
allinterferensværemidletutogmeddetmenneksligeøyevilviderforp̊askjermen
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seetintensitetsfordelingsomikkevarierermedθ.
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Dentotalganglengdeforskjellen∆skanuttrykkes:

∆s=d·sin30
◦
+dsinθ=d

(

1

2
+sinθ

)

(19)

hvorførsteleddrepresentererekstraveglengdetilbakelagtavbølgensompasserer
spaltS2førdenn̊arspalteskjermen.Andreleddangirhvormyestørreganglengden
erfaS2tilPennfraS1tilP.Merkatfornegativevinklerθ,blirdetteleddet
negativt,hvilketbetyratganglengdenfraS2tilPdablirkortereennfraS1tilP.

IpunktPblirresultantbølgefunksjonen:

Ψθ=Ψ1+Ψ2

=ψ
[

e
i[kr−ωt−ϕ]

+e
i[k(r+∆s)−ωt−ϕ]

]

ogdermed:

|Ψθ|
2

=Ψθ·Ψ
∗

θ

=|ψ0|
2
[

e
i[kr−ωt−ϕ]

+e
i[k(r+∆s)−ωt−ϕ]

]

·
[

e
−i[kr−ωt−ϕ]

+e
−i[k(r+∆s)−ωt−ϕ]

]

=|ψ0|
2
[

1+e
−ik∆s

+e
ik∆s

+1
]

=|ψ0|
2
·2[1+cos(k∆s)]=4|ψ0|

2
cos

2

(

k∆s

2

)

(19)
=4|ψ0|

2
cos

2

[

1

2
kd

(

sinθ+
1

2

)]

IfølgeMawBornssannsynlighetsinterpretasjoner|Ψθ|2sannsynlighetenforett(dvs.
hvert)elektronstreffpunkt.


